
BAS 5550

Aufbauanleitung

Nr. Abbildung Bezeichnung Menge
1 Mastrohr 1

2 Winkelprofile 4

3 Verstrebung 2

4 Gummifuß + Mutter 4

5 Schraube (M 8*80) 1

6 Schraube (M 8*70) 1

7 Schraube (M 8*25) 6

8 Mutter (M 8) 4

Schwaiger GmbH | 90579 Langenzenn | www.schwaiger.de | Hotline: +49 (09101) 702-299
(Technischer Support in deutscher Sprache) Montag bis Freitag: 08:00 - 17:00 Uhr Re

v_
a


